
<?xml version='1.0' encoding='UTF-8'?>      

<S43-L  xmlns:xsi='http://www.w3.org/2001/XMLSchema-instance' 

xmlns='http://www.bcl.lu/2015/S4.3-L'  xmlns:s43-ldt='http://www.bcl.lu/2015/S4.3-L/datatypes' 

version='1.0' creationDateTime='2015-12-17T10:20:42.0Z'>       

 <header>     

  <endMonthDate>2015-09-30</endMonthDate>    

  <closingDate>2015-09-30</closingDate>    

  <reporterID>    

   <type>30</type>   

   <code>0059987</code>   

  </reporterID>    

  <declarantID>    

   <type>39</type>   

   <code>0000465</code>   

  </declarantID>    

  <reportingCurrency>EUR</reportingCurrency>    

  <layout>0</layout>    

 </header>     

 <content>     

  <operations>    

   <reportedLine>   

    <id>  

     <item>1-RE0010</item> 

     <country>BE</country> 

     <dataType>AMT</dataType> 

    </id>  

    <reportedAmount>20000</reportedAmount>  

   </reportedLine>   

   <reportedLine>   

    <id>  

     <item>1-RE0010</item> 

     <country>LU</country> 

     <dataType>AMT</dataType> 

    </id>  

    <reportedAmount>50000</reportedAmount>  

   </reportedLine>   

   <reportedLine>   

    <id>  

     <item>1-RE0020</item> 

     <country>BE</country> 

     <dataType>AMT</dataType> 

    </id>  



    <reportedAmount>2000</reportedAmount>  

   </reportedLine>   

   <reportedLine>   

    <id>  

     <item>1-RE0020</item> 

     <country>LU</country> 

     <dataType>AMT</dataType> 

    </id>  

    <reportedAmount>4000</reportedAmount>  

   </reportedLine>   

   <reportedLine>   

    <id>  

     <item>1-RE0030</item> 

     <country>LU</country> 

     <dataType>AMT</dataType> 

    </id>  

    <reportedAmount>1000</reportedAmount>  

   </reportedLine>   

   <reportedLine>   

    <id>  

     <item>1-RE0040</item> 

     <country>XX</country> 

     <dataType>AMT</dataType> 

    </id>  

    <reportedAmount>300000</reportedAmount>  

   </reportedLine>   

  </operations>    

 </content>     

</S43-L>      


